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   NUMBER SYSTEM WORKSHEET – A 

Tick (√) the correct option 

 
Q1. The face value of 5 in 3,45, 620 is - 

a) 5000   b) 5   c) 50   d) 500 

Q2. The greatest 6 digit number is – 

a) 900000  b) 100000   c) 999999   d) 909090 

Q3. The only even prime number is – 

a) 2   b) 4   c) 6   d) 8 

Q4. The successor of greatest 3 digit number is – 

a) 1000 b) 101 c) 998 d) 999 

Q5. Seven crore three thousand four can be expressed as – 

a) 7,00,30,004 b) 7,00,03,004 c) 7,30,00,004  d) 7,00,00,304 

 
Q6. The difference between face value and place value of 3 in 2, 10, 319 is – 
 a) 2997   b) 316   c) 322   d) 297 

Q7. The digit whose place value remains always fixed is – 

a) 0  b) 1   c) 2   d) 5 

 
Q8. One crore is equal to – 

a) One million b) ten million c) hundred million  d) None of these 

 
Q9. 2,00,000 + 5,000 + 800 + 6 is equal to – 

a) 2,05,806 b) 2,05,086 c) 2,05,800 d) 12,05, 806 

 
Q10. In which of the following, the place value of 4 is 4000? 

a) 74,61,290 b) 19,24,300 c) 70,46,521 d) 5,56,004 
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ANSWER KEY 

1 2 3 4 5 6 7 8 9 10 

B C A A B D A B A B 

 
 


